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ANATOMY - Skeletal Injury/Disease Quiz (green)

Question Prompt: 1
Total Points: 10 
Points per answer: 1

Match each letter with the correct answer.

Question Prompt: 2
Total Points: 1

Total displacement of a bone from its joint is a subluxation.

Question Prompt: 3
Total Points: 1

A partial or incomplete displacement of a bone from a joint is a dislocation.

Fracture of the lower end of the
radius at the wrist

A. closed reduction1.

Bone is broken by pressure from
another bone, often times a vertebra

B. open reduction2.

One side of the bone is fractured, the
other side is bent

C. compression fracture3.

Mold of the bone applied to fractures
to immobilize the injured bone

D. colles fracture4.

Break in bone which protrudes
through the skin

E. cast5.

Bone is put into proper place after
incision through the skin

F. impacted fracture6.

Bone is broken and one side of the
fracture is wedged into the other

G. comminuted fracture7.

Break in a bone without an open skin
wound

H. compound fracture8.

Bone is put in proper place without
an incision in the skin

I. closed fracture9.

Bone is splintered or crushedJ. greenstick fracture10.

True
False
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Question Prompt: 4
Total Points: 1

The over stretching of a muscle is a

Question Prompt: 5
Total Points: 1

A traumatic injury to the ligaments in a joint, with swelling is a/n

Question Prompt: 6
Total Points: 1

An inherited condition in which the bones of the arms and the legs fail to grow normally because of a defect in cartilage

and bone formation; a type of dwarfism.

Question Prompt: 7
Total Points: 1

A degenerative joint disease; chronic inflammation of bones and joints

True
False

sprain
strain
hernia
myolitis
none of the above

strain
break
sprain
subluxation
none of the above

achondroplasia
osteoarthritis
ankylosing spondylitis
erythemaatosis
none of the above

gouty arthritis
rheumatoid arthritis
lyme disease
ankylosing arthritis
none of the above
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Question Prompt: 8
Total Points: 1

Inflammation of joints caused by excessive uric acid in the body.

Question Prompt: 9
Total Points: 1

Chronic joint disease; inflamed and painful joints owing o autoimmune reaction against normal joint tissue, and synovial

membranes become swollen and thickened.

Question Prompt: 10
Total Points: 1

Tick borne bacterium causes this condition marked by arthritis, myalgia, malaise, and neurologic and cardiac symptoms.

Question Prompt: 11
Total Points: 1

compression of the median nerve in the wrist as it passes through an area between a ligament, tendons, bones, and

connective tissue.

hyperuricemia
osteoarthritis
rheumatoid arthritis
ankylosing arthritis
none of the above

osteoarhtritis
gouty arthritis
autoimmune arthritis
rheumatoid arhtritis
none of the above

rheumatoid arthritis
ankylosing spondylitis
lyme disease
tenosynovitis
none of the above

tarsal tunnel syndrome
tenosynovitis
bunion
carpal tunnel syndrome
none of the above
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Question Prompt: 12
Total Points: 1

Abnormal swelling of a metatarsophalangeal joint

Question Prompt: 13
Total Points: 1

cystic mass arising from a tendon in the wrist.

Question Prompt: 14
Total Points: 1

Chronic, progressive arthritis with stiffening of joints, especially of the spine is called ankylosing spondylitis.

Question Prompt: 15
Total Points: 1

A chronic inflammatory disease affecting not only the joints but also the skin, kidneys, heart,and lungs is systemic lupus

erythematosus.

ganglion
bunion
gouty arthritis
lupus
none of the above

bunion
tendonitis
spondylitis
ganglion
none of the above

True
False

True
False


